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i..j,: :- is o series of texlbooks ond
,rccomponying workbooks speciolly wrillen lo
meel the molhemoticol needs ol primory school
puprls.

This series odopls o leorner-centred ond lively
opprooch to leoching Mothemotics.

Eoch chop'ter in lhe textbook begins wilh o
chopter seporotor ond worm-up oclivity which
creole opporlunilies for closs discussion ond
inleroclion. Numerous illustrolions in eoch chopter
olso enhonce pupils'understonding ol the
mothemolicol concepts. Slimuloting queslions
ond fun octivities chollenge pupils lo think
criticolly ond creotively. Leorning oulcomes ore
summorised ot lhe end of the chopler to provide
o quick review.

Through ,li .I , pupils con become
proficienl in Mothemc'lics while leorning to
oppreciote lhe beouty ond power of the subject
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Eoch chopter
feotures:

You will leorn lo
Highlighls lhe
leorning oulcomes
of the chopter.

Worm-Up
Reviews concepts loughl ond
inlroduces new concePts in o
creolive monner.

in the i[{ gf[P M&TH5 lexlbook hos the following

Chopter Seporolor
Shows on interesting
picture reloled to lhe
cnopler.

Direcfs pupils fo the
oppropriote workshaet.

Work It Out
Acls os o quick review.
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Stop-Think-Go
Encouroges pupils lo lhink lurlher.

Review
Reinforces concepts tought
in lhe eorlier chopters.

Enrichment
Engoges pupils with octivilies thol
ore funjilled ond promole criiicor
ond creolive thinking skills.

Wrop-Up!
StJmmorises lhe moin
points leornl in the chopler.
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f
Figures

You will leorn lo
. find unknown ongles in geometrjc figures using ihe properties of

ongles on o strqight line.

ongles ol o point.

verlicolly opposif e ongles.

- lriongles including right-ongled, isosceles ond equiloierol lriongles.' 
.

- four-sided ligures such os squores, reciongles, porollelogroms, , :'
rhombuses ond tropeziums.



l. AB is o stroight line.

3.

2.

zb=1s0"-I. I.

Lc=s6o"-I.-I. r"

.d=1"

AB ond CD ore stroighl lines.

oi-:
.YJ

180. -

."=-"



L
AT

La=18O"-71"-64" Lb=180"-90.-36.=r.

q
r.);a
Qti/*o-

LP=." I._I.



t,=J" Ly

t 85'= 155'=r'

l. ABC is on isosceles triqngle. ACD ond BCE ore strolght lines. Find 1n.

/BCA = 56'
180" - 56'

2I.
B

I

We con use the property of verticolly
opposile ongles ond isosceles
lriongles to. find the onswer.



2. DEF is o right-ongled triongle. FGH is on equiloterol triongle. DFG ond EFH ore stroight
lines. Flnd zd.

LHFG = 60 "
LDFE = 60"

.o=-'

3. LNO is on isosceles iriongle. MNO is o stroight line. Find Zd.

L

I80" - 80"zLNO =
2

Ld+35'=5O'

'd=-'

4. PQR ond POS ore isosceles lrionoles. Find Zn.

ZSPQ = 180'- 22 - 22' =
ZPQR=90'+22'=112
zoPR _ 180._ ll2" _ 34o

2

,n=l-"
,r'-;a
G3L

l. Equiloterol lriongle
2. Verticolly opposite ongles
3. sum oI ongles in o triqngle

L lsosceles triongle
2. Exterior ongle of o triongle



1. Find

loJ

the unknown morked ongles in eoch of the fiigures below.
{b) lc,

2. EFG ond DEG ore isosceles lriongles. HGF is o slroight line.
Find Lo.

3. IJK is on equiloterol triongle. IKt is on
JKL rs o stroight line. Find -b.

rsosceles triongle.

4. LMN ond MOp ore 2 lrionqles ond
LMO ond MNp ore strqiqhi lines. Find Lc.

5. QRs is on isosceles triongle. RTU is o stroighl line. Find Zd.

K

-SJ!



let us recoll the ongle properties of four-sided figures lhot we hove leornt.

ABCD is o reclongle.

Zs = 90'- 50"
= 40'

EFGH is o squore.
- a_ __,___\._

, / All 4 sides ore equol. \
\s'"'ll'i"'*T:"ls!l.,=-" 

@;'*

.- - -a'

,'1 opposile sides ore
, L equol ond porollel.

fu!"\-
ffi

"=-'

r;\ov-

t]KL is o porollelogrom.

.*=-'



MNOP is o rhombus.

.,=-"

LY=J'

PORS ond TUVW ore tropeziums.

WXYZ is o squore. XzV is o stroight line. Find 1e.

.-

-

"=J" .,=-"

Since WXYZ is o squore. LXYZ = 90' qnd XYZ is

a^r, = 
igo. eo" 

= 4s.

, t"=)'
o7-_-\
-\gJ

on isosceles triongle.



2. JKIM is o porollelogrom. LMN is o slroight line. Find Zf.

LJKL = 90'- 53.

LIML = 37"

.f =-'

3. WXYZ is o lroTpezium. ZXY is on isosceles triongle.Find Lg.

L

2.

3.

LxzY =-"
Ls=1"

4. PRTU is o rectongle. PQRS is o rhombus. Find Lm and Ln.

PORS is o rhombus ' PQ = AR

'*=-'

.n=J"
lPRs=I.

zPoR=I.

PRTU is q reclongle - ZPRT = 90.

sum of ongles in o
friongle
Opposite ongles in o
porollelogrom



l. Find the unknown morked ongles in eoch of the figures
Io) W tb)x

Detow.
x

WXYZ is o lropezium.
XYV ond ZYU ore stroight lines.

2. ABCD qnd EFGH ore porollelogroms.
lol

3. MNOP is o rhombus. Find Zf

4. IJKL is o lropezium. Ll = Lt. Find 29.

WXYZ is o porollelogrom.
WXU ond ZYV ore stroight lines.

Find Le.
tb)

H

5. RSTU is o porollelogrom. UVRs is o rectongle. Find th.

o;lx''
-s&,

T



l. In the figure below. ABCD is o squore. BDE is o slroight line. Find ZBDC ond ZDEC.

B ZBCD = 90"
180. _ 90.

2

c
ZDEC+30"=ZBDC

zDEc=I"

2. EFGH is o tropezium. GHI is on isosceles lriongle. FGI ond EHI ore stroight lines. Find Zo.

180" - 16.

2

ZFGH=i80.-I"=I"

s
,fr,:a'v-

"w.

.o=-'



3. LMNO is o porollelogrom. LNP is on isosceles triongle. Find zh

LLPO = 32
ZLON = 106.

zt-oP= t8o.-I.
=r"

'b=-'

4. RSTU is o rhombus. TRV is o right-ongled triongle. Find 1c

RSTU is o rhombus + RTtl is on isosceles lriongle

ZTUR = I l0'
ZRTU _ r 80": |0"_I.

z.=rao'-!'-I'

'b



l. ABCD is o porollelogrom. ADE is on isosceles lriongle.
CDE is o strojght line. Find 1y.

2. GHIJ is o porollelogrom. EFG is on equilolerol triongle.
Find Lr ond Ls.

3. IMOP is o tropezium. MNO is o triongle.
LPQ is o slroighf line. Find 1b.

4. PORS is o rectongle. POT is on equilolerol triongle.
Find Lx and /,y.

5. UVWX is o squore. WXY is on isosceles triongle.
Find Lf.

.rt.,

to
'(,&.



We hove leomt thot lhe sum of ongles ol o triongle is 180'. How con you demonslrote this
property wilh poper Iolding? Follow ihe sleps below.

($ orow o lriongle on o piece of poper ond cul it oul.

@ fotO tne lriqngle ol lhe middle olong the dotled line until A louches lhe bose Bc. Moke
sure the creosed line is porqllel to BC.

@ Now fold B ond C lowords A on lhe bose unlil they touch A.

You will find lhot the 3 ongles form o slroight line.

Slep I Step 2

Now let us look ot o tropezium. We hove leornl lhot the
sum of eoch poir of ongles belween 2 porollel sides is
'180". How con you demonslrote this properly by folding
poper lropezium? Try ii.

B,A,C

Step 3

!}h
-\g
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^M,

A

Lw= Ly, Lz- Lx

o triqngle is 180..

Lq+Lb+Lc=180"

.t:\og-

/ The sum ol qngles on o stroighl line is.l8O.. 
\ , ,,r//o+Lb+ Lc=iBO. oKXc

/ The sum of ongles ot o point is 360..

Ld+ Le+ Lf = 360.,

/ Verllcolly opposite ongles ore equol.

/ The sum of oll 3 ongles in

/ A rightong-led triongle hos I right ongle. The other 2 ongles
odd up lo 90..

AB=BC
Lo+ Lc=90"
Lo=16=45"

./ An isosceles lriongle hos 2 equol sides ond 2 equol ongles.

AB =AC
Lb= 16



/ An equiloterol triongle hos 3 equol sides ond
3 equol ongles. Eoch ongle is 60".

./ The exterior ongle ol o lriongle is equol to the sum
of the interior opposite ongles.

AB=BC=AC

Ld=Ld+Lb

/ In rectongles ond squores, oll the qngles ore right ongles.

/ In porollelogroms ond rhombuses, the opposite ongles ore equol.

Lo= Lc
Lb= Ld

The sum of ongles belween

We con find unknown ongles

Le= Lg
Lf = Lh

2 porollel sides in o geometric ligure is

in geometric figures by using oll ot fhe

equol to 180".

properties obove.

JZ;)
"\:r'



t.

2.

In the number 7 853 49 t, whot is the volue of the digit 8?

Express eoch of the following os o froction in its sjmplest form:

(o) 60% {bl 0.4s (c) 3.84

Find lhe missing numbers in eoch of lhe following:

4--:o'(u-

lol 9 06l O5j = q 0Oo 000.I, rnnn r q^ r r

A ribbon wos cut into 3 pieces in lhe rolio I : 3 :4. The lenglh of lhe shortest piece
wos 3 m. Whot wos the originol length of the ribbon?

Express 330 g os o percenioge of f] kO.

An omount of money is divided belween Jone ond MorV in lhe rotjo 5 : 8(ol Express Jone's money qs o froclion of Mory,s monev.
lb) Express Mory's money os o froction of lhe lotol omount of money.

The figure shows o porollelogrom ABCD ond o rightongled triongle ADE. CDE is o
slroight line. Find ZDAE.



8. Nome lhe poir of porollel lines in the figure below.

Gopol is 1f veors older thon Homid. Whot is lheir oge difference in months?

If x = g, evoluote I*.

Find the oreo ol the figure shown below.

10.

11.

1, 
.'

12.

13.

The perimeter of o triongle is 84 cm. The 3 sides of the iriongle ore in lhe rotio 5 : 8 : 7.

Find the length ol the longest side.

PORS is o rhombus. Find 1v.

14. Find lhe volue of 34-l - ts r * 2-L.4312

15. The cost ol 6 slorybooks ond l0 mogozines is $46.40. The cost
I mogozine is $6. Find lhe cost of I mogozine.

()r"\.
-\&f

of 1 storybook ond



17.

,16. 
The rotes of renlol for bicycles is shown in ihe ioble below.

Ist hour $2.00

Every dddifionol -L hou,
2

$0.80

John rented o bicycle ot I L30 o.m.
ollogethe|?

Find Zg in the figur€ below.

ond relurned il ol 2 p.m. How much did he poy

A mixlure is mode by mixing 3 porls of q solvenf with 5 ports of woler. If 40 I of woler
hos been used to moke lhe mixlure, how mony litres of solvent hos been used?

The length ond lhe width ol lhe rectqngle below is in the rolio 4 : 3. Whot troclion ol
the rectonqle is shoded?

Meiqi's oge is - of her sisler, Meili's. Their fother is 44 yeors older lhon Meiqi. f lrleili

is 20 yeors old, find their fothefs oge.

18.

19.

20.

Gry;



21. Extend lhe tessellotion by drowing 6 more unit shopes.

22. AB, CD ond EF ore stroight lines. Find lhe volue of /x + 1y.

There ore 3 girls ond 2 boys in o group. The overoge height ol lhe 3 girls is 158.2 cm.
OI the 2 boys, Mork's height is 'l60 cm. John is 10.6 cm loller lhon Mork.
{o} Whot is lhe overoge heighl of lhe 5 children?
{b) Whot is lhe diflerence between ihe overoge height of the boys ond lhe overoge

height of the gids?

The rqtio of the number of green cords fo the number ol red cords is 3 : 8. The rotio of
lhe number of red cords lo the number ol yellow cords is 2 :3.
(o) Find lhe rolio of lhe number of green cords to the number of red cords to the

number of yellow cords.
lb) If lhere ore 45 yellow cords more lhon green cords, tind lhe number of red cords.

25. Which ol the following figures ore symmelric?

23.

24.

{ol fl ffi,K
(.}-/;}
-9,-a



You will leorn lo
. idenlily ond nome the different ports of o circle
. use formulo lo find lhe circumference ond qreo ot o.circle, semicii,cle

ond quqdronl. l
. lind oreo ond perimeter of figures mode up of circles,isemicirclei o-i ,_

quodronls.

solve word problems involving oreo ond circumference of'o'circle. . 
'



I
Squore

P"rir"r"r=I.,
Ar"o=!.r,

4cm

6cm

Redongle

t"rir"t"r=I.t
Ar"o=!.r,

p"rir"t"r=I.t
n."o=!.r,

3cm

Triongle

p"rir"r"r=I.t
Rr"o=J..'

oi:x
-Yt)

How con we find lhe oreo
ond perimeter of o circle?

Ltrcte



look ol ihe poper circle below. We con fold il twice io get 2lold lines os shown below.

lst fold+ 2nd fold+ unfold+
Fold lines

@
The poinl where ih-e 2 fold lines meel is colled the centre of the circle.

Drow o circle using o poir of composses. ln lhe circle shown below, O is lhe centre of the
drcle.

dislonce between the cenlre of lhe circle ond ony polnt on ihe circle is olwovs lhe
This dislonce is known os the rodius of the circle.

is o rodius of lhe circle obove. Con you nome'the other 3 rodii shown?

l:\-o
69-

@wn#



Now drow o line joining 2 points on the circle ond possing through the centre of lhe circle.

This line is known os the diometer of the circle.

AB is o diometer of ihe circle.

The loble below shows lhe rodius ond diomeler ol eoch of lhe 2 circles shown below.

X

circle Rodius lcm) Diomeler {cm)

X 1.5 3

Y 2 4

O',':>"
-Ylr



l. Meosure the rodius ond diometer of eoch ol lhese iircles.

2. Let r represent the rodius ond d represenl the diomeler of o circle.

ro) r= 6 cm, a=f cm

{b) r=3.5m,a=!m
{c) r=f cm. a=te cm

,1::Q'&2-

ld r=!m,d= lt m



The perimeler of o circle is olso

a

known os the circumference oI fhe circle.

Circumlerence

To meosure lhe circumference of o circle, we con use o slring lo go oround the circle Then.

find the length of.lhe piece ol string.

Circumferen

From lhe obove diogrom, we
3 limes its dlometer.

I
o?:\
"Kg)

con see lhot the circumference of o circle is slighlly more lhon



Here is onother woy to show the relotionship belween the circumference ond lhe diometer
of o circle.

oD x

Slorl

Stori

Stort Finish
+- Circumlerence _______-____+

a' The circumference is slightly

\_,more thon 3limes the diomeier.

7 givqs
lo2

Iocesl-

<-Urcumlerence-.--------------}

The ioble below shows lhe diometers ond opproximoie circumferences of 3 circles. Find lhe
yolue of the :l::' ': * for eoch circle. Whot do you nolice?

Diometer

q
<;iow-

Circumference (cm)
(Approximote voluel



3.14 or fl times
7

Since
Circumlerence

Diomeler

The rodius of o
lToke r = 3.l4l

Diometer = 2 x

l. A circle hos o diometer of 2l cm. Find ifs circumference. {Toke n = fl)
T

Circumterence = n x Diomeler
22 ^.
7

=66cm

Ils circumference is 66 cm.

circulor plote

Rodius'r
cm

is I I cm. Find lhe circumference oI the plote.

circumlerence = 3.14 x22
= 69.08 cm

The circumference of the plote is 69.08 cm.

. )7-
-\J

2.



The figure below is formed by o semicircle ond

lloken= ffl
o stroight line. Whot is its perimeler?

7m

Diometer ol circle = 7 m

I ..,
- or Tne ctrcumterence ot o ctrcte

122
27

= ll m

Perimeter of semicircle = ll +7
= l8 m

Ils perimeter is l8 m.

The figure below is mode up of o quodront ond o triongle. Find its perimeter.
{Toke r = 3.14)

'12 cm

5cm

Diometer oI circle = 2 x 5 = l0 cm

] of the circumference of o circle

=Ix3.14xt0
4=I.'

Penmefer of fisure = I. I., I. I=I*
q

nio
w]/.

A semicircle is q hqlf circle.

uorler circle.

Its perimeter is I..



r

I. The rodius ol o CD-ROM is 6 cm. Find
(ol its diomefer.
(b) ils circumference. *
(Toke n = 3.14)

2. The circles below ore noi drown lo scole. Find their circumferenss5. llq(s E = 3.14)-@ (b) tc, (dl

3. When o wheel tums I complete round, we soy lhol il mokes
I revolution. If lhe dlometer ol lhe wheel is 14 cm. find the
distonce the wheel moves in 2 revolutions.

(Toke n = f)

The figure below is mode up of o rectongle, o semicircle qnd 2 quodronls.
perimeter. (Toke r = 3.141

Itoke n = f?l
7

Find its

8cm

5. Roju benf o piece of wire lo form lhe curve shown below. The diometers of the
2 semicircles ore shown. Whoi is the lolol length ol the piece of wire?

onx.\!,



i\

Number of grid squores covered by quodrqnl = 39

Areo of quodronl = 39 x I cm'z = 39 cm'

Areo of circle = 39 cm'? x 4 = 156 cm'z

i

I cm'

<:)"o
'\y.



'1. Cul o circle inlo 24 equohieces.

2. Ploce 23 of lhe pieces next to eoch other. cul the lost piece into 2 holves ond ploce

eoch holf on eilher ends os shown below. The circle hos now been mode to look like

recionole.

+of circumference

Areo of circle = Areo of rectongle

= I ol circumlerence x Rodius
2

=nxRodiusxRodius

oi:\
-Y5,'

- of Circumference = 
I x n . Diometer

= r x Rodius



1. A cjrcle hos o rodius of (cm. Find its oreo. lToke n = l3t
7'

Areo = r x Rodius x Rodius
22=_x/\/I

= 154 cm'z

Its oreo is 154 cm,.

,lllIlNI{ rrrr lrtrlrr-rrrrrrll
Corhpod the dnswefbbo\ib with lhe olre on$iige 3l.
ls ihe one on poge 3l o good ettimoiiz

trr :r ririrtr rrr-rt'rrrrtrr

Find the oreo of o circle ol diomeler lO m. (Toke r = 3.14)

Rodius = Diqmeler + 2
=10+2

Areo=3.14;15,.5
= /6.5 m_

The oreo of lhe circle ls 78.5 mr.

3. The diometer of o coosler is 8 cm. Find the oreo ol the coosler. {Toke r = 3.i4)

9o6;r. =!.t

III=I.''
/:{o
€v-

The oreo of the .oort", i. ! .m'.



4.

Areoottisure=ffi-6
=ffiffi.r'

The oreo of the figur" i. ffi .r1

5. Mr Lim used o loser beom lo cut out o circulor piece from o squore piece of melol
sheet os shown below. Whot wos lhe oreo of lhe remoinino Diece of metol shee'l?

llOKe[= I
7

The figure is mode up of o semicircle ond
{Toke r. = 3.,l4)

Areo of semicircle = I x Areo of circle
2

=lx3.l4x3x3
2

= 14.13 cm,

Areo of lrionole = l.^ 
Bose x Heiohl"2

=Ix6x62

= l8 cm'z

Areo of squore =W ffi
=ffi.r,

Areo of circle =""ffi"W
=ffi,-'

o lriongle. Find the oreo of the figure.

42 cm

Areo oi remornrng prece oi meror rn""t = ffi - fi
=ffi.''

The oreo of the remoining piece of r"tol .h""1 *o. ffi .r'.

o7;}l
-\51
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l. The circles below ore nol drown to scole. Find lheir qreos. lToke,r = 3. t4l

'"' 

G'' O''e'', @
2. A pizzo of diomeler 28 cm is cut into 6 equol slices. Find the qreo of eoch slice of pizzo.

lToke n = -1:1
7

, 
i:0'."^{1::9-1,.-Ticrrculor 

pieces of cordboord of different sizes to moke o logo designror ner orr proJect. The rodius of the lorger semicjrcle wos 8 cm. Whot wos lhJoreo oithe design? {Toke n = 3.141

4. Triongle ABC is o right-ongled

culs BC into holf. Find lhe oreo

isosceles triongle. Poinl X cuts AB inlo holf ond
of the shqded parl.llake n = +)

poinl Y

zcm

,7-\.. )
tg-



L The shoded port
(o) perimeier
(b) oreo

of the unshoded

in lhe squore below is o semicircle. Find the

22,porl. {roKe ,r = 7,

l4 cm

lol Circumference of semicircle = ), 'l , ,O

=ffi.'
Perimeter of unshod"o cot =ff*m.ffi.m

=ffi*
The perimeter ol the unshoded port i. ffi .t.

(bl Areo or squore = ffi ^ AF= ffi .t'

Areo of semicircle = 
', 

3 , ,

=ffi.r'
Areo of unshqded o*, =ffi-ffi

=ffi"'

J-:>
-gJ.J

-'€ 3feo of the unshoded port itffir '.



2. The floor of o swimming pool is formeo oy
{o) the floor oreo of the swimmino oool.
{bl the cost of tiling if the tiling co-sts $38

the neorest dollor
lToke r = 3..14)

2 quodronls ond d rectongle. Find

per squore melre. Round ofl your onswer 10

(o) Floor oreo = Areo of 2 quodronts + Areq of rectongle

Areo oI eoch quodront = I x 3.14x4x4

=#lm'
Areo of rectongle =6x4=ffi''
Ftoor oreo ot poot = # r m.ffi

=W^'
The lloor oreo of the swimming pool i. ffi rr.

lb) I m' r $38

ffi,,,W"ssa
=sW=sW

<:\C,g-

Mr Jones needs to oov oaou $Wfor lhe tiling.



l. fohn wrole the leller C in lorge block
letter on o bonner. He did this by drowing
o lorge semicircle, o smoller semicircle
ond 2 lines of length 2 cm eoch.
Find the
{o} perimeler
{b} oreo r
of lhe block letter thol he wrote.
(Toke r = 3.l4)

2. Find ihe perimeler ond oreo of the shoded regions shown in lhe figures below.

l2 cm

2cm 6cm 2cm

3. A triongle is drown inside o semicircle of diometer 28 cm. lf the height of lhe lriongle is

l4 cm, whot froction of lhe semiclrcle is the lriongle? Reduce your froction lo ils

simplesl form. (Toke r = =l

(bl

oh>.
-s,9

(Toke n = 3.14)

'lm am im
.:1 ++-

28 cm



Q orow z circles wiih the some cenrre o os shown in Figure r. The inner circre hos orodius of 7 cm ond lhe outer circle hos o rodius of l4-im

Figure l

@ using o = ?,findthe oreo of rhe shoded region.

@ Now reploce lhe inner circle with o rectongle so thot lhe shoded reqion outside lhe
rectongle hos the some oreo os in O. Drow lhls new figure ond *iit" do*n the lengfh
ond breodth of the rectongle. (Note: Moke sure lhol your rectongle does not go beyond
lhe circumference of the big chcle.)

Figure 2

..4:iOg-



tlVrap-Up!

/ When we fold o circle twice, the poinl where the 2 fold lines meel is colled lhe cenlre
of the circle.

/ The dislonce between the cenlre of the circle ond ony point on the circle is known os
the rodius of the circle.

/ A line joining 2 points on the circle ond possing
through the centre of lhe circle is known os the
diometer of the circle.

ln ony circle, lhe diometer is lwice the length of the rodius.
Diometer=2xRodius
Rodius=Diometer=2

The perimeter of o circle is olso known os the circumference ol lhe circle.

an.tt6lor6.6
The volue of the:fiffif is the some for oll circles. The circumference is olwoys

17
obout 3.,l4 or; limes of the diomeler. We con represent'lhis volue with lhe Greek

letter n.

ft = 3L or 3.14
1

/ circumference of o circle =1Ix Diomeler

/ Areq of circle = 7r x Rodius x Rodius

/ A semicircle is o holf circle. A quodronl is o quorler circle.

-\:+



You will leorn to
. reod ond interpret pie chorts.
. solve problems using dotq in pie chorts.



Type of flofs Number of units

3-room 35

4-room 55

5-room 60

Executive Moisonette 50

YOU

ond
hove leornt how to
line grophs. took ol

represent dolo in tobles, bor grophs
the doto given in the toble below.

I con presenl ihe doto
obove using o bor groph.

60

50

40
Number

of 1nunits --
20

3-room 4-room s-room Executive
Moisonelle

Type of flots

Whot froclion ol the tolol number of flols ore s-room llols?
Whot percenloge ol the lolol number of flols ore executive moisonelles?

I cqn olso present the doto in this woy.
look ol the figure shown on the right.
Do you know whot il is colled? con you
use ii lo onswer the 2 queslions obove?

Execuli1,e

- 142 ,

Moisonelte



lype of soles Monlhly soles

Storybooks $500

Textbooks $6 00

Stotionery $3 00

Mogozines $6 00

Totol soles $2 000

I con present the dolo in
lhe loble using o pie chort.

5torybooks soles =

Stolionery soles =

Texlbooks soles =

Mogozines soles =

600 3

2000 t0
600 3

2000 l0

500

2000

300 3

2000 20

The pie chort is divided into 4 poris, nomely fhe soles of slorybooks, texlbooks, stolionery
ond mogozines. The size of eoch port is determined by lhe lroclions obove.

A pie chort is o circle groph.
Storybooks Mogczines

Te&lbooks Stolionery

't"{{Xr\.'${ rrrrrrrr-rrr--rrrrr r r r r Iwt
ff Wtrot onswer do you get when oll the 4 froctions ore oooec dF
I *hvisthisso? "d
trrrrrrrr r-rrrrrrrr--+?'

'-:"7-



Llfliied Stdtes
of Americ0 MaloV!ic

L The pie chorl below shows i500 stomps collected by Solly from 4 diflerent countries.

We con disploy quontilies
in o pie chort.

Si11gspore

Which country ore most of Solly's stomps from?

The lorgesl port of the pie chort represenls slomps from Chino.

5o, mosl of Solly's stomps ore lrom Chino.

Whot froctlon of the totol number of stomps ore from Singopore?

(oJ

(b)

420 -i
rs00 |!+
E ot,n",o,o, nuro".
::E

(c) Whoi percenloge of the lotol number of stomps ore from Moloysio?

'--::.'a ^ 100% = .; -.. %1500 :,,

.. o6 o[ the lotol number of slomps ore from Moloysio

(d) Find lhe rolio ol lhe number of siomps from lhe Uniled Stoles ol Americq lo lhe
number of stomps from Chinq.

tso zso =.i'::,.,., ;;:i.!#

rhe rotio is:ilrij;fl , .,t,:,+

Reduce the froclion to
its simplest form.

of slomps ore from Singopore.

,,r(;;
.\:1



The pie chort below shows lhe number of voles cost by o group of viewers lor ihe
4 conteslonts A, B, C ond D toking port in lhe Singopore ld6l conlest.

lo,

{b)

Whol froction ol the lolol number of voles wenl lo conieslont D?

The porl represeniing votes for conlestoni D is I of lhe whole pie chort.

5o, f of ihe lolol number of voles went lo conleslont D.

Whot percentoge of the lolol number of voles wenl lo contestont C?

The port represenling votes for contestont C is ] of the,whole pie chort.

lxl00%=s0"/"

Contestont C received 50% ot the totol number of votes.

Whol froction of lhe tolol number of voles wenl lo conleslonl B?

WWFffi

D, how mqny viewers voled(d)

c,

@t:

'-r-I-I=I
I " rrts vurcs werr ro conresronl b.

If 50 viewers voted for conlestont
for conlestont A?

I -^
- + JU Vtewers

l

;-50*2=25viewers

25 viewers voted for conleslonl A.



3. The pie chort below shows lhe onnuol soles for losl yeor from 4 differenf sections of o
deDoriment slore.

Household
oppliqnces

(ol Whol percentoge of lhe onnuol soles come from lhe 'Household opplionces' seclion?

ro0%- 14% - 40%- 26%=2a%

20% of the onnuol soles come from fhe
'Household opplionces' section.

lb) Which section hod the highesl soles?

The port represenloling the 'Food' section is lhe lorgesi omong fhe 4 ports.
so, the 'Food' section hod lhe highest soles.

{cl Whot frodion ol lhe onnuol soles come from lhe 'Electronlcs' section?

14% = 14

100r _ ..._,
=-.'.>||||P|e5||U||||,

of lhe onnuol soles come from the 'Eledronics' seclion.

(d) If the lotol onnuol soles from these 4 sections wos $700 000, how much of this
omouni come from lhe 'Clothing' section?

r00% '$700 000

l% ' $7oo ooo 
= $7ooo

100I

I
-

*3@

clofhlng

$ ! .ot" ttom the 'clofhing' section.



3.

2.

A group of 500 children wos osked to choose lheir
fovourile colour. The pie chort represents their
cnorces.
(ol How mony children chose red?
{b) Whot froction of ihe children chosp arppn?
{cl whot percentog" oi *," ir',iroi"" .r'o""l"rro*"
(d) Whot is lhe rotio of lhe number of children who

chose blue to those who chose yellow?

The pie chori shows the different types of drinks
sold ot o drinks stoll.
{o) Which wos the most populor drink?
(b) Whqt froction of the drinks sold wos soyo beon?
{c) Whot percenioge oI the drinks sold wos milo?
{d) If 80 cups of milo were sold, how mony cups of

leo were sold?

A group of tourists wos osked to choose their
fovourite locol food in Singapore. The pie chori
shows lheir choices.
lo) Whot percentoge of tourists chose soioy?
(b) Whot froction of lourists chose chicken rice?(cl Whol percentoge of the tourists chose nosi

lemok?
(d) If the totol number of tourists wos 3OOO, how

mony of them chose rotj proto?

4. A group of sludents collected 2OO items during o noture wolk. The type of items
c€llecled ore shown in rhe pie chort berow. Find the percenloge for eoch item co|eciec
(Express your onswer os o decimol.l How con you check vour-onswerz

Cotfee

Ch;cken ricd

|',ioddc.i aS M 2
CEfi.t 5

tf **.i*



$ reep trock of how you spend your lime during o weekend (soturdoy
ond Sundoy). You moy choose to divide your lime into lhe following
5 cotegories: Sleeping, Outdoor octivities, Wotching TV, Studying ond
others.

@ necord your dolq in o toble using o spreodsheei soflwore. An exomple is shown below.

Activily
Number of hours
{Totol = 48 hours)

Sleeping t8
Ouldoor octivities t0
Wotching TV 6

Studying 7

Olhers 7

@ nfi"r you hove filled in oll the cells of lhe toble, use Olhers
lhe spreodsheel softwore to generote o pie chorl.
An exomple is shown on lhe right. (Your leocher will
show vou how lo do this step.)

wotchinE TV

@ try chonging some of the volues in the loble. Wolch whot hoppens to the pie chort
when you do lhot.

@ Copy your originol pie chort over lo o word processing soflwore ond odd some iext to
your pie chort. Use your pie chort to onswer lhe following questions:

{o) Whol octivity did you spend the most time on?
(b) Whot froction ol your time did you spend wotching television?
lcl Whot percentoge of your lime wos spent studying?
(Express vour onswer os o mixed number.)

./ Dolo con be summorised ond presented in the lorm of o pie chort.

/ Pie chorls disploy informotion in quontilies, froctions or percenloges.

/ We con gei useful informolion from pie chorls.

\:,r;:
,\;,"

Outcloor
dcfivities

lNrap-tip!

Studying



*
L Wrlte the following in numerols.

{o} Twentyjour thousond, nine hundred ond live
(b) Three million, fifly-five thousond ond seven
lc) One million ond lifty-two thousond

2. Find lhe missing numbers in the following:

45m

ld g1.2g4 =9,< l0+ I +1+ 3 *I I
rooo

67

o S=!z
3. |""1.o is p yeors old. Noncy is 6 yeors older thon Leeno. Which one of the following will

be Noncy's oge in l0 yeors'fime?

(p + l0), (p + 16), (p- 161, (p + 4l

4. Express 70 os o percenloge of 56.

5. How mony squore foces ore lhere in lhe nel of o cube?

6. Evoluote lhe following expressions.

tot g1- zI53
rbl r4l - 9.41

4

7. A rectongulor field hos o perimeter of 164 m. Its lenglh is 45 m. Find its oreo-

4sa
,21'/-

fr.,imerer=r6im



8. Find lhe perimeter of the following quodront. {Toke r =

10.

Which of lhe lollowing lroctions is less lhon lj

5ll7
i' i' 4' 40

ABCD is o porollelogrom. AD = AQ.
DOB is o slroighl line. Find ZQAB.

I L Find the missing number in

o+la=oo++l+15 5

12. Find the volue ol 684+3+27x5.

13. Find the overoge of 3.5, I o.l3 ond l].

14. The pie chort shows lhe types of sports prefened by o group ol students who wos
surveyed.

Swimming Bodminlon

Toble Tennis

Il lhe number of students who prelerred lootboll wos -L of ihose who prefened

swimming, whol wqs the percentoge of the siudents who preferred swimming?
Il lhe number of studenls who preferred footboll wqs 14, whot wos the lotol

, number of studenls surveyed?

a-1"/--'\-"gb
.C,

22,
,, t -::--

,::.i\
'\

' l;-
9_

to)

tb)

Foolboll



15 f of on opple pje wos eoten by Hujli ond ? ol it wos eoten by Anne

home L of the remoining pie. Whot froction of the pie wos slill left?

Mrs Ton took

17.

16. The figure on the right is mode up of o rectongle
ond o semicircle.
lo) Find the perimeter of the flqure.
(b) Flnd the oreo of the fioure.

lToke 7r = 3.14)

The speedometer shows ihe speed of o
moving vehicle. Write down this speed to the
neoresl l0 km,/h

,l8. 
ABCD is o reclongle ond DEFG is q rnomDus.
LFGD = 64.. Find zcDc.

19. The number of while bolls to the number of red bolls in o bog wos in the rolio 4 : 9.
After - of the red bolls were token out of ihe bog, there were l8 more red bolls thon
white bolls in lhe bog.
{ol Whot wos the totol number of bolls in lhe boq initiollv?
lb) How mony red bolls were removed from tf," 6ojZ 

- '

20. A buffel lunch is chorged occording to the price list below:

A fomily of 5 members comprisinq Mr ond
lboth below l2), went for the bufflt runcn.

Mrs [in, their fother
How much did they

loged 651 ond 2
poy oltogether?

children

5r )-v-

26m

$ r 6.80

Senior citizen (obove 55)

Child (below l2)



22.

2l . The figure consisis of o big semicircle wilh centre O
ond 2 smoller semicircles wilh diometers AO ond OC

of l4 cm eoch. Find ihe oreo ol lhe shoded region.
22.lloKe iT = 
-l1

A ship left the horbour ot 17 l5 on Sundoy ond returned to lhe horbour oi 08 40 on

Tuesdoy. How long wos it owoy from the horbour? (Give your onswer ln h ond min.)

The bor groph below shows the number of potted plonts sold oi o nursery lor the lirst
6 months of the yeor.

1000

900

800
Number 7^^of '""
potted 600
plonls

500

400

300

{o} How mony potted plonis were sold from April to June?

lb) Whol wos lhe decreose in percentoge of ihe number of potted plonts lrom
Jonuorv lo Februorv?

(c) Whol wos the overoge number ol potled plonls sold eoch monlh over lhe 6-monlh
oeriod?

Dovid left Singopore for Kuolo Lumpur ot 8.00 o.m ond drove ot on overoge speed ol
I oo km/h. Arnold storted lor Kuolo Lumpur from the some ploce I hour 45 minutes
loter. Dovid orrived in Kuolo lumpur ol I .l.30 

o.m. while Arnold orrived ot I 45 p m.

Whot wos Arnold's overoge speed?

Exomine lhe pottern closely ond find lhe missing number.

YqgvEit-#:t*

23.

\r7:>
.94

24.

25.

lonuory Februory Morch April



You will leorn lo
. find lhe volume ot solids mode up of cubes ond cuboids.
. lind the volume of liquids.
. solve word problems involving volume

Ir



'1. How mony l-cm cubes ore required lo build up o cube o{ edge 3 cm"

1..'

2. Exoress the volume of woter in the 2 contoiners shown below in

{o) litres.
{b} millililres.

I'

Volume = 3000 cm3 Volume = 282 cm3

p
o;:\
-\il,



l. The solid figure shown on the rlght is mode up of

Volumeof eoch l-cmcube = I x I x l

'=icm'
Numberof cubes in the solid = I + 6 + 9 = t6

Volume of lhe solid figure = l6 x I cm3

= 16 cm3

l-cm cubes. Flnd its volume.

2. The cuboid shown on the righl is mode up of l-cm cubes.
Find lhe volume ol the cuboid.

Volume of cubojd = !, t .rn'

=!c..

Volume of the cuboid = 4 x 2 x 3

1

ls.'
I

ctn

=!.r.
@i:



3.

4. A cuboid hos o volume of 160 cm3

heighi.

lKn
Helght of the cuboid = -;=I"

A gloss cubold hos o bose oreo of 48 m'?ond o height of
Find ils volume.

Volume of cuboid = Lenglh x Breodth x Height

= Areo x Height=I"I=I''

6m.

'I'IIINI( r rrr r r r r r r r r - r r r r r- I

c-t ,l;',{c1&ffffi

I
Look ol lhe lollowing solids. Whot con you fell obout A? I

T

lenglh

.lts lenglh is 8 cm ond ils breodth is 5 cm. Find its

J.-

('8 x 5 x

O-/':\
-\s'



5. The volume of o cube is 2 l6 m3. Whot js lhe length ol one edge of the cube?

6.

!'I'!=zro
Lenoih of one edoe of rhe cuhe = I -

How mony cubes of side
by l8 cm by 12 cm?

--

-;-

2 cm con fill up on empiy reclongulor box meosuring 24 cm

I
l2 cm

i

m

2

t8 
^

2

12.
2

Number of 2-cm cubes =12x9x6=I
'l'lI[NI(rr-rrr--rr-r r-ri

Con you think oI onolher woy of finding
lhe onswer lo Question 6?

@:

24 cm

I I r r r rt r - rr--r - r rrrr



1. The following solids consist of l-cm cubes

{o)

2. Find lhe volume of the following cuboids
(o)

Find the volume of eoch solld.
(b)

(b)

12 rn

8m

3. The solid shown below is mode up of cuboids eoch meosuring 2 cm by I cm by I cm'

Find its volume.

9cm

-\;l



4. Find

lo,
the volume of lhe following cuboids.

1r,
'11 

'til
nKnown

to' 

^ruo=tr.,"'ffi

3cm

5. Find

lq,
lhe u edge of eoch cuboid.

(b) (c,

I
4cm

I
B

6.

7.

The volume of o cube is 729 cm,. Find the

How mony cubes of side 2 cm ore neeqed
{ol

":ln
18 cm

one edge of lhe

the following cu

length of

to fill up

0cm

lsi

cur

oid

ecL

rboi
(b)

t6 cm

8. Thirty-six 2-cm cubes will fill up on emply rectongulor box l2 cm long ond
4 cm high. Whot is the breodth of the box?

9cm A

co=!f m

Volume=2l6cm3

na=ffi.t
Volume = lJ5 m'

?t
Volume = 360 cm3

er=fcm



l. A rectongulor lonk meosures 50 cm by 30 cm by l0 cm. It the lonk is filled to the brim
with woler, whol is the volume ol woter in lhe tonk? Give your onswer in lilres.

l0 cm

2.

Volume of woler in lhe tonk = 50 x 30 x l0
= 15 000 cm3

The volume of woter in the ionk is l5 l.

A reclongulor confoiner, 24 cm by l8 cm by l0 cm, is

volume of woler in the conloiner in litres.

Volume of woter in the conloiner = i x Copocity of contoiner
4

=Ax24xl8x10
4

= 3240 cm3

1 titt"o with woter. Find the

oz:\.\9

50 cm

24 .m

=I,



3. A rectongulor troy meosuring I5 cm by l5 cm by 2 cm is fillled with woter to its brim.
All lhe woler is lronslerred inlo on empty cubic contoiner where the length of eoch
edge is l0 cm. Whot is lhe height of the woler level in the cubic conloiner?

Volume of woter in lroy = 15 x 15 x 2
= 45U Cm"
t

Volume of woler in cubic contoiner = 450 cm3

450 = 10x l0xHeight

Heighl 450

Tonk B

I'

tt5

l0x l0=I.'
The height of the woter level in lhe cubic

contoiner is !cm.
l0 cm

4. Kenny pours lhe some omount of woler into 2 empty tonks A ond B os shown below.
Tonk A is holf-filled with woter. Whot is the heighl of the woler level in Tonk B?

1.,.,

Volume of woter in Tonk B = Volume
I _^

= x5u
2

= i5 000

15 000 = 30 x l0 x Heighl

Heiohl = 
15 ooo

' 30x l0=I.'

Tonk A

of woter in Tonk A

x20x30
cm'

50 cm

30 cm

The height of ihe wofer level in Tonk B i. | .rn. -



5. A rectongulor tonk. 20 cm long ond l0 cm wide, is lllled wilh woter up io o heighl of
I cm. lf I I of woler is qdded into lhe lonk, whot will be lhe heighl oI lhe new woter
level?

Volume ol woter odded = I I =

Increose in heighi of wot6r level
20x l0=I.'

1000 cm3

1000

8cm

=I.*
Tne nergnr oi rne new worer ,"u", *,,, o" f at.

1,, 

.'

HergnT oi new wqler rever = 6 - I

6. A rectongulor contoiner, meosuring 60 cm by 50 cm by 40 cm, is filled with woter to its
brlm. Woter is emptied from o top ot o role ol 24 litres Per minute. How long will it
loke io empty lhe conloiner complelely?

Volume ol woter in fhe contoiner = 60 x 50 x 40

= 120 000 cm'
= 120 I

24lof woter + I min
.tl/otwoler - 24 

t,n
l

120 / of woler ' 
- 

min l20

=Jmin

e ll will tok" ! tinut"s to empty lhe contoiner completely

o-t>.
-\a

20 cm

smsm
New Stamp



l. Find the volume of woter in eoch of these tonks in litres.
{ol {b}

15 cm

A rectongulor tqnk hos dimensions 20 cm

Find lhe volume of the woter in lltres.

l, 
.^.

8 cm. It is a filled with wqter.

9cm

2.

3.

by 25 cm by

A rectongulor conloiner is l0 cm long ond

il is -: full. Find the height of lhe tonk.

5 cm wide. Il conloins 400 ml of woler when

@:

12 cm

20 cm

l0 qn



4. Tonk A, meosuring 20 cm by 15 cm by l8 cm, is I filled wtfr woter. All of this woter is

poured into on empty Tonk B, meosuring l5 cm long ond 8 cm wide. Find the height ot
the woler level in Tonk B.

18 cm

20 cm

Tonk A

l5 cm

tonK b

5. A reclongulor tonk,40 cm long ond 20 cm wide, is filled wilh woier up to o heighl of

l2 cm. When 4 I of woter is odded inlo lhe tonk, the woler level rises lo I ol the

height of the tonk. Whot is lhe height of lhe tonk?

6. An emply rectongulor conloiner meosures 80 cm by 60 cm by 40 cm. Woler is poured

inlo fhe conloiner ot o roie of l2 litres per minute. How long will it toke to fill fhe
conloiner to the brim?

ai?x
-*t

40 cm

80 cm



ond lhrice its height. If the length is l8 cm,
1. The length of o cuboid is lwice iis breodlh

lind the volume of lhe cuboid.

tength of cuboid = l8 cm

Breodth of cuboid = 19 = 9 cm

Height of cuboid = -la = 6 cm

Volume ol cubotd = ffi .r,
The volume of the cuboid is

40 + 3 = l3l
3

Number of possible cubes olong lhe lenglh = l3

30 + 3 = l0
Number of possible cubes olong the breodth = lO

20+s=o!
3

Number of possible cubes olong the height = 6

Number of toiol possible 3-cm cubes = l3 x 6 x l0

2. Mr Ton hos o rectongulor block of wood meosuring 40 cm by 30 cm by 20 cm. He uses
o mochine to cul os mony 3-cm cubes os possible from this block of wood. How mony
such cubes cqn he cul?

1,..'

He con cul ffi}r cubes from the block of wood.

'8N{fI{f{ rrrr-trr-rrrr-r-rr- --r I
Wf Sql you find the onswer to the question obove by using the I
i following method? - --- - f
t Number of possible 3-cm .ro"a = 

volume of block of wood f - -I

tg-

40 cm

; 
*" * ur Pus5lure o-crTl cuDes = vdrt""l 3_r- *b" .1$

I why? Ej
lrrrrrrrr-r-rr- r -- r- - r- --- -iHa



3. A reclongulor lonk, meosuring 50 cm by 45 cm by 40 cm, wos l filled with woter. II

lhe woter wos emptied from the tonk ol o rote of 4 liires per minute, how long did it
loke to empty the tonk complelely?

Volume of wqter in lhs 1qn1 = a x 50 x 45 x 40
5* 

= 36 000 cm"=I,
4t
1t

4

I,*]'in*l
' 1 min
* 1 mtn

2. ts tSIz cm'.

4. Find the mdximum number ol 2-cm cubes lhot con be fitled tnto o lJ-cm cuDlcol
confoiner.

o7;>.
.sc)

50 cm

=fmin
tt toot J minutes to emply the tonk complelely.

cubes ore obtoined?
3. A mochine culs o cube wilh sides lO cm into smoller 2-cm cubes. How monv smoller

The height of o cuboid is thrice ils breodth ond twice its lenglh. If lhe heighl is l2 cm
long, find ils volume.

A cuboid consists of 4 cubes. The volume of the cuboid
Find lhe lenglh of eoch edge of the cube.



5.

6.

Seventy-lwo 4-cm cubes will completely fill up on empty rectongulor box of breodth
l2 cm ond length 32 cm. Whot is the height of the box?

The solid shown on the righl is mode up of l-cm cubes. Ii is ploced ot o comer of o
room. How mony more l-cm cubes ore needed lo build up o 3-cm cube?

7. A rectongulor tonk of length 60 cm ond breodth 50 cm is 11 filled with woter. When

l8 I of woter is odded inio the lonk, the woter level rises lo lhe brim of the tonk. Whot

8.

is lhe height of the tonk?

A cubicol lonk with sides 30 cm is l filled wiih woter.

ot o rote of 2lilres per minute, how long will it loke to

lf woter is poured into o tonk

fill up the tonk?

60 cm

.-{
67)

30 cm



Q roke o sheet meosuring 30 cm by 2l cm

@ cut out lhe squore corners of the sheet of sides 3 cm

?

2l cm

@ rota f into q rectongulor solid.

lO Foslen.1he ioints
ot 4 edges wlln
sticky lope.

@ Meosure ond 
.

record lhe lengln,
breodth ond
height oI the
solid.

@ Find ils volume.

The volume of o solid is lhe omounl o{ spoce it occupies

Volume of o cuboid = Lenglh x Breodth x Height

The volume of liquid is usuolly meosured in lilres qnd millilitres'

l1= IOOO cm
1rn1 = 1cm3

All the edges of o cube hove the some lenglh

To find o dimension oI o cuboid, we divide its volume by the other 2 dimensions

VolumeVolume
LenOTn = -:' Breodlh Helqnr

Breodth =
Length : Heighl

Heighi =
Length x Breodlh



*
Find the volues of the following expressions.

lol 32x15-264+8
(b) 60+12+3) x4
{c) (45+31 x6*4

4 bogs hove o moss of 3p kg, lp + 7l kg,lgp - 5) kg ond (3 - p) kg.
ll p = 2, tind the overoge moss ol the 4 bogs.

A top wos used to fill on empty wqter lonk meosuring 50 cm by 30 cm by 40 cm. If ihe
woler tonk become full ofter l2 minules, whot wos lhe role of flow of woler from lhe
top lo lhe tonk? Give your onswer in litres per minule.

Convert the following quonlilies.

(o) 2.73ks=In
(b) es 321 mr =!l
to fm=lcm
(d) 6h4min=f min

A reclongle is i 00 cm long ond 60 cm wide.
(ol Whot is the rolio of lhe length lo the breodth?
(b) Given thot lhe roiio of the lenglh to the breodlh of onolher rectongle is the some

os the originol one, find lts breodlh when its length is 125 cm.

{ol Whot f roclion ol 8.8 km is 176 m?
{b) Whot percenloge of 12.5 lilres is 500 ml?

The rolio of lhe number of Kevin's stomps lo ihe number of Corl's stomps is 3 :5. lf
corl gives 30% ol his slomps lo Kevin, whol is the new rolio ol lhe number of Kevin's
stomps to Corl's sfomps?

A school hos 2000 sludents.45% of the students ore girls ond lhe resl ore boys.
20% ol the girls ond 70% of lhe boys weor glosses. Whot percenloge ol lhe students
do not weor glossest 

ooty-
O'



9. The overoge o{ 3 numbers is 
.l4. 

The 3 numbers ore olso in lhe rolio I:2:4 Find the
3 numbers.

lo. on q certoin doy, o clock ron fosler by 5 seconds for every l0 minules ofier 8.00 o m.

Whot wos the octuol lime when it showed 10.00 o.m. on thot doy?

I l. The pie chort summorisesthe types of books in o privole librqry.

lo. on q certoin dov. o clock ron fosler bV 5 seconds for every l0 minules ofier 8.00 o m.

Reference

Acodemic

Non-ficiion
chlldren

(o) Whot percenlqge ol lhe books ore non-fiction?
(b) lf there ore 490 ocodemic book, whol is lhe number of non-fiction books?

.11 -
A motorisl completed f of o journey in 2 hours. He completed the rest of lhe iourney

in I hour ol on overoge speed of 90 km/h.
(ol Whot wos the dislonce of the whole journey?
(b) Whot wos the overoge speed of the whole iourney?

The figure shown below is mode up of o reclongle ond 2 semlcircles.

Find (o) the perimeter ol the ligure. ond
{b) lhe oreo ol lhe ligure.

22.lloKen=-l
7

12.

13.

.f7;F
-Y!t

120 m



14. Find the oreo ol the shoded port in lhe figure below.

l7 cm

32 cm

15. AB ond cD ore stroight llnes. Find zw + Lx + Ly + Lz.

D

t6. Extend the tessellotion by drowing 6 more unil shopes

i)"og-



17. When more woler wos odded into the conloiner, lhe woler level rose to l8 cm. How
much woter wos odded into the conloiner? Give your onswer in litres ond millililres

Wlth the help of o ruler, o protroclor ond o set squore, drow o porollelogrom ABCD.

with AB = l0 cm, BC = 6 cm ond /BCD = I 30'. Then drow o perpendiculor line from
the point C lo lhe line AB to meel AB ot E.

(o) Meosure the length of ED lo the neoresl mm.

lb) Meosure zcED lo ihe neoresl degree.

The line groph below shows the number ol members in o club for the post 4 yeors.

lScm

18.

19.

.\gr

600

500

Number 4oo

-: 300memoers
200

100

0
2000 2001 2002 2003

(o) Which yeor hod the highesl number of members?
(b) Whot wos the percentoge increose in the number of members from 2000 lo 2001?

20. An empty contoiner is 18 cm long,9 cm wide ond 9 cm high lf eoch cuboid meosures

6 cm by 3 cm by 3 cm, how mony cuboids ore needed to fill lhe contoiner complelely?

50 cm



21. Look ot the pottern below closely. Whot ore the digils in lhe boxes?

22. A reclongulqr tonk meosuring 50 cm by l6 cm by 2O cm is filled wilh woter lo the brim.
When o top ot lhe bollom of the tonk is iurned on, woler flows oul ol o rote ot
500 ml/min. How long does it loke before the lqnk is emolied?

Lyn 
,boug-hf some spoons ond lodles for $45 oltogether. Eoch spoon cost $ L2O ond

eoch 
,lodle 

cost S l-40 more thqn o spoon. If she bought holf oi mony loores os sDco-s
I|nq rne numDer ot spoons ond lhe number of lodles she bought.
,]80 

picture cords were shored omong 4 boys qnd 3 girls. The girls receivsd 2 1 Tes cs
mony piclure cords os lhe boys. The girls divided theii shore inlhe roiio | : 2 j 3
lo) How mony picture cords did lhe girl who hod the lorgest shore recei/e?(b) If the boys shored their cords equolly, how mony coris did eoch boy receive? 

q.

;\otg-

,, ..1

23.

Digif in the ones ploce

'19 x l9

19^19^19

19 x 19 x 19 x 19

19 x 19 x 19 x t9 x 19 x 19 x 19

'19 x 19 x... x 19 (50 timesl

500 ml/min

24.



25. Observe the pollem ond find the missing numbers'

P
o?;x
-Yqt



ili:1irl1$)li\r,.a,f ,N.tl.r

In ihis chopler, you will be introduced lo 7 problem-solving slrotegies qs shown below.

.. 1' ' -'- ' '\' --'\
( Whoi is o stroteov? |
a.-t _

w
A slrotegy is o plon we moke use of when we wonl to solve problems.

When solving o problem, it is useful to lisl lhe inlormolion given qnd onolyse the problem
before deciding which strolegy lo use. Somellmes, o problem moy require the use of more
thon one slrofeov.

There ore mony slrotegies you con use when solving o problem. The 7 slrotegies lisled
obove ore some of lhe more common ones.

GAo'uz-

. Moke o tist

. Moke o Toble

. Guess ond Check

. Lse o Diogrom,/Model

. Look for o Pottern

. Simplify the Problem

. Work bockwords

smsm
New Stamp



Mdke o List

3 coloured bolls ore lo lit into the 3 holes of o wooden block os shown in lhe flgure
below. In how mony woys con this be done?

Lisl the informdtion

To fil 3 coloured bolls inlo 3 holes.

Andlyse lhe prcblem

since qny of the coloured bolls con be in the first, second or lhird hole, we con moke o list
to help us find oll the possible woys.

Thus, there ore 6 woys of orronging the 3 bolls

I*tsTut
In how mony woys con you llt 4 coloured bqlls into o wooden block with 4 holes?

possible woys

33
30ao
ry3oo
$o

List all the

ry
s
a
I
3
3

-Ygc



Moke o Toble

iffi J"",T,J;fl i,'.n.;Til:ii]ii:ru:if;"['n:1i;:3_:3iJ:;""1i,li',**,

List the informotion

50c commission for eoch book sord |i'J;Y,ili"tllJ.filthe 
informoiion

tsonus of $ I 2 for every 30 books sold
rolot omounl mode: $6 L50

Andlyse the problem

I book - $0.50
30 books ' l$0.50 x 301 + gl2

Include the
bonus of $ 12.

looking ot the totol omount thot she mode, Jone musl hove sold more thon 30 books.

Conslruct o tdble

We now moke o loble os shown below.

From the loble obove, we see lhot Jone must
90 books.

$6 1.50 - $s4 = $7 50

750 + 50 = tS $7.50 = 75Oc

60+15=75

Jone sold 75 books ollogelher.

hove sold more lhon 60 books but less ihon

\g-
o

Number of books sold Amounl poid lo Jone

$27x2=$54

$27x3=$81



Guess ond Check

qnd lo-cenl coins, There
,mony,coins ot eoch lypejo::ig

List the informdtion

Coins: lo-cent ond 2o-cent coins only
Tolol omount: $4
Number ol coins: Seven lo-cent coins more lhon 2o-cenl coins

Analyse the prcblem

We moke o guess,lo tind lhe number of lo-cenf coins ond 2o-cenl coins thol wlll odd up to
oive o totol ol $4 such thot lhere ore seven more lo-cenf coins lhon 2o-cenf coins.

First guess

Ten 20-cenl coins
seventeen Io-cenl coins

I
a7:>
-Y&)

check

rox@=52.eg
$3.70

r7 x@ = 5r.7q

The guess is wrong. Let us try ogoin.

Revise the guess

Eleven 2o-cent coins
Eighleen lo-cenl coins

Check

rr x@o!=5'22s IX f$4oo
tarQoj=$t.80 

J

The guess is correct.

Jill hos eleven 2o-cent coins ond eighteen lO-cenl coins..



Use o Diogrom/Model

.:::. .

'" fhere is o stock ol 4 books: Molhemolics, Science. English ond
:, The English book (E) is ploced below the Chinese book (C). The
. Mothemolics book {M) is ploced between fhe English ond lhe
, Chinese books. The English book is ploced obove the Science

,:, Qook (5). How ore the 4 books orronged in the slock?
i..:,,
.1:1':,'

List the infomdtion

Chinese.

. There ore 4 boolc - M, S. E ond C. E is below C. M is between E ond C

. E is obove 5

Anolyse the problem

We drow simple diogroms lo help us visuolise lhe 4 pieces of informotion obove.

Drow o first diogrdm lo represent pdr, of the informotion

Drqw o diogrom using the second ond third points qbove.

M is between E ond C -
E is below c

chinese

Mothemolics
Enqlish

Draw o second diogrom to add in the resl of the informotion

Afier drowing lhe diogrom of how the firsl 3 books ore ploced in the stock, ploce the lost
book in lhe slock os shown in the diogrom below.

E is obove 5 '

Chinese

Mothemolics
English

Science

The diogrom obove shows how the 4 books ore stocked.

The Chinese book ls on fhe top of the stock, followed by the Mothemoi'rcs o-0d ihe f€lish
books in o lop-down order. The Science book is ot the bollom oi lhe s:oc( c"

=;i(J1Z-
€)'

smsm
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o Poilern

l-unil
squ0re

Moke d tdble to find o pdttem

big, ore there in o

unit lengths.

2 unil
squore

9+4+1='14

There ore l4 squores ollogelher in o 3 x 3 squore grid

oi-?..
-xu

Number of
l-unil squores

Number of
2-unit squores

Number of
3-unil squores

2x2=4



{b) Use lhe pottern

These ore squores of different unil lengths.

FEI]
[":.t
l-unit

squore

16 + 9 + 4 + I = 30

There ore 30 squores oltogether in o 4 x 4 squore grid.

t*t'c T+v

Con you figure oul the number of squores in o 5 x 5 squore grid?

2-unit
squore

3-unit
scLUore

4-unit
squore

6)'o\v-

Number of squdres

l-unil squore 4x4=16
2-unit squore 3x3=9
3-unit squore 3x2=4
4-unit squore lxl=l



simplify the Problem

hexogons os shown in the diogrom
391 motchsticks?

Lisl the informotion

There ore 391 motchsticks.

Simplify the prcblem

Let us look ot how to form 3 hexogons first.

The lst hexogon uses 6 mqtchsticks
The 2nd hexogon uses 5 more moichsticks.
The 3rd hexogon uses 5 more molchsticks.

Solve the original Problem

The lst hexogon uses 6 s'licks.

Number of moichsticks left = 39'l - o

= 385

Every odditionol new hexogon on lhe right uses

Number ol hexogons = 385 * 5

- 77

Totol number of hexogons = I + 77
-'79

I con build 78 hexogons wilh 391 mqtchsticks.

oi:>.
-E

Q,mom
6r5 6+5+5

5 more molchslicks.



Work Bockwords

Llst the infomotion
_.3-. sne spenl 

= 
of lhe monev.

5_,r-. 5ne spent 
= 

of the remoinder.
J. $8 left.

Dtdw models

.'lrti rl:'fl.-it +, ,,.i:

ney for her birlhdoy. She sp

,df the remoinder buying tor

tly,,diid her mother give her'o

f ol whole on lunch

f of remoinder on CD

$8 left

2
a

Work backwards to get frcm the known to the unknown

$8x3=$24

The remoinder wos $24.

2 unils = $24

I unir = l?1 = $i2
2

5 unils =$12 x5 =$60

Mother gove her $60 ot the beginning.

.t

@:



i study rt" pottern of o series ol squore grids.

:r sq.uores in Figure 6.

1 Figure 2

Deiermine the numb", ot rnrhoO"a unlt' ii
lr :' r"'l+., .i',.

Figure 4 ... Flgure 6' r'":r:'':

,uro.rlort-'
:a;:lryi -i'

Anolyse the problem

The edge lenglh of lhe shoded squqre grid is the some os the ligure number' For exomple,

rigureihosizx2shodedsquoiegrid,Figure3hoso3x3shodedsquoregridondsoon

The edge length of the whole grid is 2 more lhon the ligure number For exomple, the edge

length 6f figu-re 4is 4 +2= 6. Thus, the number of unil squores in Figure 4 is 6x6 =36

Mdke a toble & Look for d Pdltern

There ore 28 unshoded unil squores in Figure 6.

-\3

Figure 3 Figure 4

No. of unil squores
lunshoded grid)

No. of unit squores
{shdded grid}

No. of unit squores
{whole grid)

lxl=l3x3=9
16-4=122x2=44x4=16
25_Q=162,a-o

36-16=204x4=166x6=36
49_25=247 x7 = 49

64-36=286x6=368x8=64



t

la'tTrv
Con you opply lhe'took for o poltern' strolegy to lhe losf column? How mqny
unshoded unit squores will there be in Figure lO?

Example z

' th" diogror below shows 6liles with diflereni number of dols eoch. How monv ooirs
..ol volu-es ore lhere such lhol lheir volues when odded logelher give o sum greoter

lhon 6?

List out oll the poirs of numbers.

{1, 2}, fl , 3}. fl , 4}, fl , 5}. {r, 61, {2, 3}, {2. 4t, {2, 5}, {2. 61, 13, 4}
{3, 5}, t3. 6}. {4, sL t4. 6}. {5, 6}

tdentify the rclevont pdirs

There ore 9 poirs of volues from lhe obove list whose sum is greqler thon
11, 6j. {2. 5},12, 6t, {3. 4},13, s}, {3, 6},14, s}, {4, 6}, {5, 6}

6:

<:iog-



Example 3

There ore l4 chickens ond cows oltogether on lhe form. There ore
46 legs in oll. How mony chickens ond how mony cows ore there
on lhe lorm?

Anolyse the problem

Eoch chicken hos 2 legs.
Eoch cow hos 4 legs.

Guess dnd check & Mdke d toble

The toiol number of legs is 42.

The guess is wrong. lel us try ogoin.

Revise the guess

We revised our guess 2 times to get the correcl onswer.

There ore 5 chickens ond 9 cows on the lorm.

,\;"

X too tew

y' collecl

Totdl number
of legs

Number of
chicken legs

Number of
cow legs

Number of
chickens

14+28=427x4=287 x2= 14

Totol number
of legs

Number of
cow legs

Number of
chicken legs

Number of
chickens

12+32=446x2=12
l0 + 36 = 469x4=365 x 2 = l0



it. Whot numbers ore , ..

i!'!
,r;i,

ir
,:d$

Anolyse the problem

tooking ot lhe firsl column, we get + A = 3.

Use o diogram/model

Use lhe picture provided qs o diogrom to work on.

12

12

l1

12

'I I
9 t4 12

Look ol lhe third row, we get +

914 12

3+B+3= l1
6+B=ll

3 J

? L

914 12

12

12

1l ew
Looking ol lhe first column, we gel + 3 + 5 + C = 12

I + C = 12

WegetA=3,8=56n4g=4.
q

@t:

B L

L 6

B

3 B C

3 B

B J

smsm
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Exompte 5

A lorge equiloterol triongle is mode up of smoll equiloterol
triongles. Some red point hos been occidentolly sploshed on
the lorge lriongle, covering porl of it. Con you figure oul
'ihe totol number of smoll equiloterql triongles in the
diogrom shown on the right?

Simplify lhe problem & Look for a pottern

Look ot the lorge triongle on lhe lefl.

* 
-34

9+7+5+3+1=25

Hence, there ore 25 smoll
equiloterol triongles.

*1.88 
^

It hos 3 rows of smoll equiloterol lriongles.
Number ol smoll triongles=5+3t l

We hove odded oll the odd numbers from 5 to I to gel the iotol number of smoll equilqterol

triongles.

solve the o ginol problem

We see from the llgure in lhe question lhot there ore 9 smoll equiloterol lriongles in ihe

bottom row.

As in the triongle obove, lhe top row will olso hove I smoll triongle

We odd oll the odd numbers from 9 to I lo find the lolol number of smoll equiloterol

iriongles.

Since 5 odd numbers hove been
odded. we soy thot ihere ore 5

rows of smoll triongles in the
lorge triongle.



Llndo bought 6lloormots ond 4 towels of the some type for $ 
.]32. 

A towel cost
times os much os o floormol. Find the cost of o floormol.

List the informotion

. Bought 6lowels ond 4 floormols. Poid o lolol of $,l32. Cost of I towel is 4 iimes the cost of I floormol

Anolyse the problem

The cost of I lowel is 4 limes the cost of I floormot.

The cosl ol 4 towels is l6 times lhe cost of I floormot.

Simplify the problem

Since 4 towels cost os much os I6 more floormols,
lhe cosi ol 6lloormots ond 4lowels is the some
os lhe cost of 22 floormols.

22 floormots + $132

I floormot ' 
$132

22

=$6

The cost of I floormol is $6.

16=22

Let'r hl
f The totol cost of 3 rodios ond 5 wolkmons of the some iype is $770. The cos- of
i eoch rodio is 3 times the cosl of eoch wolkmon. Find the cost of eoch rodio

L

';z-

smsm
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2.

3.

4.

In o 2-person reloy, lhe firsl runner completed holf of the totol dislonce qnd I km

before possing the boton lo the second runner' The second runner ron ] of lhe

remoining drslonce ond I km 1o the finlshing line Whol wqs'fhe totol distonce of the

roce?

In o group of 50 children, 2 opples were given lo every boy ond 1 opple wos given to

eu"r/ gld. fn lotot, lfre boys goi 7 opples more thon the girls How mony boys ond girls

were lhere in the grouP?

Tom is shorter thon Ken. Ron's heigh'f is somewhere between Ken's ond Woyne's

f'"igl,lt. WoVn" is loller thon Ken. Arronge these 4 boys from the shorlest to the lollesl'

If o mon con only wolk diogonolly upwords (if lhere is o diogonol poth)' eostwords ond

;;h;";;, how mony r,oul". .on he toke to gei from poinl A to poini B in eoch of lhe

Let us summorise lhe problem-solving process

(b)
f ollowing scenorios.
(o) .B

Reod the question corefully ond identify oll lhe informotion'
Lisl lhe informotion ond onolyse lhe problem.

Choose one or more slrolegies to try oul.

5olve the problem using your chosen strotegies
Check ogoinst lhe ques'lion lo moke sure lhol your onswer is reosonoble'



8.

7.

5.

6.

A boy mokes $2 for every gome set he sold. He will olso get o bonus of $ 14 for every
25 gome sets sold. If he wonts lo moke $200, how mony gome sels must he sell?

Mr Jones is required lo orrive ot the oirport I hour 30 minules before his flighl tokes
olf. It tokes 45 minutes lo lrovel from his house to lhe oirporf. For this trip, he needs to
deiour to pick up his sister lrom lhe oirport which will toke up onother,L of lhe lrovel

time from his house 1o the oirport. He odds in onolher I of lhe lolol tr;vel {including
3

detour) lime on the rood lor ony possible trolfic jom. If his llight is scheduled to toke
off ol 7.50 p.m., whot'lime musl he leove his house?

Using only 100,20C ond 50C coins, how mony different woys con you pul lhem togelher
TO mOKe
(o) $0.80?
(b) $r?
lc) $ 1.50?
You need not use oll ihe three denominotions of the coins ond there is no restriction on
lhe number of coin for eoch denominolion ovoiloble.

Ai on ice creom shop, customers con choose one ol live flovours of ice creom. They
moy olso selecl one of six toppings to go with their ice creom. How mony woys con you
combine the Ilovour wilh lhe iopping?



'1i.",-,#""-'

W,',"

f&, 'i is o series of lexlbooks ond occomponying workbooks,
speciolly writlen lo meel the molhemolicol needs of primory school pupils.

This series odopts o leorner-centred ond llvely opprooch lo leoching
Moihemolics through stimuloling queslions ond gomes.

;r r Key Feotures:
. Chopler Seporoior ond Worm-Up oclivities provide opportunities

Stop-Think-Go consists of queslions lhot require pupils to reflecl on

ond opply whol they hove jusl leornt.
Work It Out ollows teochers to ossess pupils' underslonding oT bosic
molhemolicol concepls.
Enrichmeni engoges pupils with octivilies thol ore f un-f illed ond
promote creolive ond crilicol thinking skllls.

Wrop-Up! provides on overview of lhe key molhemolicol
concepls tought.

. Review reinforces the skills ond concepls toughl in the eorlier
choplers.

Through &4 l=i , pupils con become proficienl in Molhemolics
. 
' while leorning to oppreciote lhe beouty ond power of the subjecl.

The pupils' pockoge conslsls of:

TEXTBOOKS 6A ond 68
WORKBOOKS 6A (PARTS I ond 2)

WORKBOOKS 68 (PARTS I ond 2)
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